Chapter 10-1 to 10-5 Review
1. Simplify (-2x? + 3x + 16) - (2x* + 6% - 7Xx + 8 )

2. Find the product (6x® +4x) (-2x2 - 5)

Use the zero product property to solve

3.(5x-3)(2x+6)=0 4. (7x + 2)(5x-15) = 0

Solve the equation by factoring

5. X2+ 23x + 90 = 0 6. x2 - 4x - 30 = 2



Find the x-intercepts and vertex. Sketch the graph of the quadratic.
7. x2-2x-15 =20

o




8. An arch can be modeled using the following quadratic.

3’=.iﬁnn (2x-36) (2x + 36)

a. How wide is the arch? -

b. How tall is the arch? EEEEEE 1

c. Sketch a graph of the arch.

¥

1 square = 6 units



Chapter 10-1 to 10-5 Review
1. Simplify (-2x? + 3x + 16) - (2x* + 6% - 7Xx + 8 )

1

-AxZ+ -8 x 7 + &



2. Find the product (6x® +4x) (-2x* - 5)

FO |
-1Ax° + "39x3+ -8 x>

- 1x® + -38x°+ -20x



Use the zero product property to solve
3.(5x - 3)(2x +6 )=20 4. (7x + 2)(5x-15) = 0

5x-3=0 Xx+t=0 Ix+2=0 5x-15=0
5x= 3 dx==-{, 7x=-2 5x=159
X= 2 X="5 K:'"ET X= D



Solve the equation by factoring
9. x2 + 23x + 90 = 0 6. X2 - 4x - 30 = 2

(x+18)(x+5)=0 xLdx-32=0
(%x-38)(x +4)=0

X= 9 and ~4



Find the x-intercepts and vertex. Sketch the graph of the quadratic.

7.%2 - 2%x - 15 = 0 x=;—4-='—523_.=§;{
Fod x-infercepts g
(x-5)(x+3)=0 ;
X=5and -3 * "

Find vertex (I;H:)
|im:_ of svmmﬂf\l }(=\

Swbshitote ] info x omd \/
selve fer v
vz (1-9)(1+3)

=44 =l




8. An arch can be modeled using the following quadratic.

15 (o
y = 305 (2x-36) (2x+36)

a. How wide is the arch? Jbvmts .

b. How tall is the arch? EEEEEE T

c. Sketch a graph of the arch.

. Find x—in‘}trCEf'l'S
Ax-23b =0 x+3(=0
2% = 3 Ix=-3, -
%=13 %= -8
b Find vertex
|Iht n‘F S}jmmf"r\’ X=0

¥

1 square = 6 units



8. An arch can be modeled using the following quadratic.

-15

Y:m (2?{-36) (2K+3ﬁ}

a. How wide is the arch? 3@» omts o

b. How tall is the arch? 48. b onits
c. Sketch a graph of the arch.

bi Fmd Vey leX
line of symmetry X=0

SubstiteYe O 'an K -

L

1 square = 6 units



